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H= 1315 71 165 101 32 51 94 1829 0.8%
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Liok=A| 251 24 48 181 5 0 22 531 3.2%
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Mg 13869 665 2579 7875 411 17 1101 26517 30.8%
A 12733 667 1607 2578 183 20 676 18464 21.4%
=4 7937 610 1048 1180 147 82 623 11627 13.5%
£5 3880 285 557 720 76 27 331 5876 6.8%
LES 1971 519 113 156 161 21 257 4198 4.9%
ol 1750 119 390 304 44 5 143 2754 3.2%
HE 1355 M 265 660 39 20 171 2621 3.0%
As 1578 105 181 575 29 16 M 2595 3.0%
z 2093 75 77 272 17 6 37 2577 3.0%
Z4 1333 91 134 227 22 1 52 1870 2.2%
2 951 73 189 523 33 3 62 1834 2.1%
(1= 739 67 181 326 26 2 65 1406 1.6%
FLt 957 67 77 218 17 8 43 1387 1.6%
ol ES 555 47 116 177 20 1 69 985 1.1%
St 550 26 80 103 9 0 23 791 0.9%
ES 454 12 36 46 6 7 23 584 0.7%
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= oM SHASE 20 A 2.20tH0| o, SHo = 7}z fo|

CHXe| 20cH Hdo| Efx|je 2 MES Zt o|RE= ZYo| 7IE IO, u], FTH &
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ZhotL 2908 76 338 1194 95 5 231 4847 18.3%
S 779 31 185 785 26 0 93 1899 7.2%
SHET 496 22 211 994 23 1 83 1830 6.9%
ZLtq 912 41 106 268 16 1 56 1400 5.3%
oj=Z3 636 35 172 444 25 0 34 1346 5.1%
457 376 34 103 727 17 0 42 1299 4.9%
=z 702 31 106 392 18 0 45 1294 4.9%
ASZL 899 34 19 116 20 0 31 1219 4.6%
MI23 453 26 66 565 20 0 43 1173 4.4%
cglq 201 16 142 705 9 2 54 1129 4.3%
ZM3 740 45 164 77 10 0 44 1080 4.1%
Ms3 396 14 82 505 14 1 51 1063 4.0%
a3 642 44 140 53 16 1 34 930 3.5%
EE 519 25 95 164 14 1 29 847 3.2%
T2 566 34 84 43 10 0 42 779 2.9%
=hub 618 8 3 40 9 0 33 739 2.8%
237 242 6 35 354 8 1 22 668 2.5%
e 342 31 72 55 12 1 14 527 2.0%
243 332 21 54 59 12 0 24 502 1.9%
=3 229 9 26 157 6 1 13 441 1.7%
=23 190 13 68 53 7 0 27 358 1.4%
FIEE 198 1 30 53 5 1 20 318 1.2%
LM 160 27 39 19 7 i 15 268 1.0%
23 56 7 46 14 8 0 14 145 0.5%
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- et} 4.88H(18.3%)22 J1E Ban, SET 1.98HU(7.2%), SHET 1.88H(6.9%) &

CHE 2l 200 HHo| MEE MES 2t o= 20| 718 AN, BF, FEH =

= Zldn} 22510] 1.420H(52.1%),
- mSa} 24510 7.98H(30.0%),
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Z2lA| 1633 68 231 1072 35 1 146 3186 17.3%
29I4A| 1187 44 116 350 16 2 40 1755 9.5%
ShAA| 1396 59 132 41 10 3 44 1685 9.1%
MLEA| 1226 49 161 151 11 0 43 1641 8.9%
T{EHA| 1168 55 102 15 10 0 53 1403 7.6%
OFARA| 655 35 83 222 18 1 3 1045 5.7%
QKA 538 61 107 154 16 2 43 921 5.0%
0|2 A| 414 23 32 189 1 2 9 670 3.6%
L=FION| 568 7 31 6 3 0 28 643 3.5%
AlEA| 446 17 55 43 2 1 40 604 3.3%
THEA| 461 35 36 9 4 1 17 563 3.0%
ohokA| 403 26 60 36 5 0 1 541 2.9%
OFMA| 336 15 27 71 4 0 14 467 2.5%
BRA| 229 12 37 34 10 1 10 333 1.8%
Uz A| 194 13 60 5 7 1 21 301 1.6%
Lhok=Al 158 25 49 27 3 0 19 281 1.5%
ZHEA| 154 15 39 31 1 1 21 262 1.4%
ZEA| 187 16 38 8 3 0 9 261 1.4%
o|MHAl 124 12 59 29 7 1 19 251 1.4%
s 229 3 2 0 0 0 2 236 1.3%
Sk A| 161 13 25 18 2 0 5 224 1.2%
ZHA 186 3 7 9 1 0 3 209 1.1%
ShetA 133 15 25 1 3 1 7 185 1.0%
O A| 81 14 32 7 4 0 7 145 0.8%
o|2kA| 82 6 10 26 1 0 12 137 0.7%
AEA 86 7 4 4 2 2 4 109 0.6%
Fa|A| 68 5 19 5 1 0 5 103 0.6%
I1HZ 90 3 5 2 0 0 3 103 0.6%
0{A| 52 7 10 5 1 0 5 80 0.4%
ESMA 47 4 8 6 1 0 4 70 0.4%
TFRA| 41 0 5 2 1 0 1 50 0.3%

CHEollM 200H HAE2 HI|= 4, 2, 31 S22 Ll ME
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CHZie| 20CH Hdo]| AV |2 MES 2t o= Zglo] 7I& 30, uF, FH &

- Zleial 2450 1.301H(69.0%),
- @S} 22510 2.6 H>14.0%),
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s OFAFA| 1220 60 134 38 10 7 32 1501 12.9%
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A=A 191 43 67 5 7 6 21 345 3.0%
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&7 4539 433 976 2917 183 9 506
=5 4668 285 968 2102 243 9 421
M2 4172 598 889 1609 150 32 394
HE 3727 168 683 1338 123 6 282
AE 2964 124 503 1446 87 5 256
A 1969 85 331 945 53 3 156
e 1640 61 271 736 54 2 132
LS 1317 149 323 490 116 5 162
(1= 1512 66 208 560 37 4 93
zZal 1142 65 234 593 45 1 95
ok 1354 59 179 374 24 2 79
ol 875 61 208 578 49 4 113
ES 1189 70 167 348 21 1 88
S 588 18 91 286 1 0 56
HF 257 26 41 115 10 0 20

iMoo 2 mMelsf 2 200 o{Md2 SHA(SH, 55, AIS)at
FEA(H7], M2, el)o|

> S| ML= 200 0iMo| 2.59H on|, S0l 7te Ho| 2
- SEAo|ME 204 0f40] 1.98H ko, Ho|olH 7HE Bo| B

20tH ofdo| ciHe= MYUsH 2 olr= ZYHo| 7IE 30, 1S,
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= Z|dn} 2edsto] 4.19HH(54.0%),
= wmSn #2510 1.89HH(24.1%),
= ) ‘ (Mo =2 FMelsl 2 20CH o{AMe| X[l Ex = ‘ = - FEiD} BE5t0] 8.1MH(10.8%)0| (M2 Ml
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FOkA| 1472 114 294 857 67 3 137 2944
= ALA| 1221 93 345 354 67 4 156 2240
ZEA 1104 65 223 286 52 2 120 1852
MARA] 578 25 139 424 25 2 51 1244
Faz 689 56 185 157 57 1 72 1217
O} AkA| 570 46 154 336 21 1 57 1185
2o{2 594 31 132 184 40 0 74 1055
2EHA| 516 35 M 224 25 1 54 966
CHXIA| 396 10 108 277 17 0 36 844
of| Ak 368 13 76 160 10 0 37 664
H=ZA| 357 38 78 88 36 2 32 631
EMZ2 329 16 80 144 8 1 29 607
M2 241 11 56 104 10 0 29 451
HaR 272 7 | 65 6 0 24 415
Efot 198 15 58 88 10 3 26 398

SHM o2 Mels| 2 200 ofd2 tiFE 2} 772 A7} Ch

= Foto| 2.9¥H(17.6%)2 7E Honf, =2 2.2MH(13.4%), 2F 1.9H({1.1%) =
= HEA|(6HH/3.8%)2] A=0= CHHAIQ} e1H5tm 9oL} Aoz Ml 2 =7} HS

SH2| 20t o{do| cHHo = HMejs 2 olfE Aol 71 30, u=x, FH =

it atEsto] 8.9&82(53.3%),
S} 22510{ 3.73H(22.4%),
Hol 2H24510 218 H(12.4%)0] M2 Ml
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N e - Moz MUSH 2 20 o{Me| x| st
><>< (Erel:
w E
><>< z = P ns FARZ Az e 2t s g
=2AA| 570 61 118 262 23 1 56 1091 11.4%
S T{EH A 408 28 82 239 17 1 47 872 9.1%
209lA| 336 36 74 239 1 34 727 7.6%
T2kA| 312 28 67 243 1 33 6389 7.2%
OFALA| 31 35 52 165 13 1 47 624 6.6%
MLEA| 310 43 55 142 10 0 34 594 6.3%
SHMA| 232 21 45 168 12 1 23 502 5.2%
OHMA| 134 10 51 154 10 0 22 381 4.0%
O|HA| 157 12 36 138 10 0 21 374 3.9%
; OFokA| 175 19 38 100 3 0 18 353 3.7%
' 23| 163 21 36 110 5 1 12 348 3.6%
OIS A| 127 13 30 121 9 0 15 315 3.3%
MLl AlEA| 130 11 33 97 4 0 24 299 3.1%
Lhok== A| 136 6 29 90 4 0 22 287 3.0%
O™ EA| 124 2 35 52 3 0 1 227 2.4%
ZZEA| 105 7 22 75 6 0 1 226 2.4%
QA 100 15 28 55 4 0 8 210 2.2%
EA| 95 8 23 53 5 0 5 189 2.0%
A 81 10 21 62 4 0 8 186 1.9%
ZEFA| 86 5 12 48 4 0 15 170 1.8%
0FA| 69 6 12 42 6 1 1 137 1.4%
ZEHA| 59 9 9 37 2 0 9 125 1.3%
o|2kA| 63 5 32 1 0 4 114 1.2%
QT A| 55 2 1 32 2 0 ] 110 1.2%
ShLtA| 58 6 12 22 3 1 4 106 1.1%
FE[A| 33 4 10 25 3 0 4 79 0.8%
SEHA| 24 3 8 21 2 0 3 61 0.6%
IS 29 1 8 16 2 0 3 59 0.6%
oiMA 22 3 4 12 0 0 3 44 0.5%
P 20 3 3 3 0 1 38 0.4%
apEA| 15 0 3 7 1 0 0 26 0.3%

= Zlein} maisto] 4.533H(47.5%),
- mSa} 22510 2.9 H(30.5%),
a2 13| o= Mls| 2 2004 oiMel Xl 2xE A - a3} BEIsto] 1.08H(10.2%)0] HHo = Hel

@9



N e E5-IMo= MY 2 20CH o{Ae| x| s
JaXPal <
" ><>< ) zef ETE e as gz xelpd et £
HZA| 1891 138 366 919 77 3 171 3565
> EFAM 562 28 90 339 17 2 58 1096
SHA 573 41 156 106 45 2 61 984
ds2 422 24 108 100 27 0 35 716
HFA| 291 9 52 162 12 2 27 555
=42 262 13 57 156 13 0 23 524
TEF 197 13 33 136 22 0 12 413
223 222 9 51 65 17 0 18 382
EHUZ 110 5 22 54 7 0 6 204
a2 88 3 23 41 2 0 7 164
Chokot 50 2 10 24 4 0 3 93

E50M tiHe = Mels| 2 20r o2 HFol EFIt ¢

- HFE7}3.6HH(41.0%) 22 7HE B, £F 11HH(12.6%), S 1.0HH(11.3%) &
E52| 200 o{do| tHHo = HMels| 2 o|f= Zlo] 7IE 30, ug, FEH &=

2510] 4.78%H(53.7%),
2510{ 2.18H(24.2%),
21510 1.0 H(11.1%)0| X o= Ml
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gl 14 ‘ Moz FMels 2 Mulo| x|oiw BExc
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v @ o CHHof|A| &5 20CH of Ao x|o S

ey & ey ns FHgA xjdsH J|E
Me 16417 559 2630 7153 466 12 1067
&7 6727 440 1024 1658 139 18 440
st 4771 457 794 1101 153 98 470
&5 2652 222 380 594 7 39 295
LES 1956 341 716 137 114 18 221
5 827 97 202 514 29 15 143
ol 1195 69 225 186 35 3 115
As 759 104 17 418 22 12 926
o 770 75 135 408 35 1 55
Z 638 73 83 181 14 8 27
3 544 51 130 197 25 2 45
Ay 481 70 90 109 12 6 41
1 ES 343 32 99 154 18 0 35
Hi 324 65 63 113 5 3 45
X 359 15 35 46 3 14 20
S 188 21 34 29 6 1 14

CHXollAM 20CH 0o{M2 F=A(ME, Z7|, oId)z}
SHAUSH, 55, MIS)2= ci M&

= HAM F=EA(ME, 2IH, H7|)e2 4.19HHo| Ztend, O
= HAM SHAME, &8, sH)o2 1.601Ho| Zten, O

CHZ2| 20CH ofdo| EfX|¥o 2 MES 7t o|f= Zeio] 7I& 3

M

= Z|dn} #2dsto] 3.99HH(59.1%),
= wSn 2510 1.30HH(19.7%),
J2 15 | CHHOIM MEst 20I) oiMel x| BxE EE - FuT} BEst0] 7HH(10.3%)0] HES 2



. © o X - A2= ME3 200] o{Me| x|oie Bz

ey & ey ns FHgA xjdsH J|E Al
Zotq 2988 66 287 815 74 3 193 4426
SEHF 955 19 168 602 14 0 68 1826
o=z 923 35 199 505 61 1 58 1782
ZLtq 1150 42 143 283 42 0 60 1720
M2 552 22 120 826 15 0 61 1596
S22 484 9 186 790 16 i 87 1573
ZM 3 1099 41 187 107 18 0 43 1500
Z2zix 909 29 117 321 28 0 44 1448
M= 550 24 68 709 17 0 51 1419
ASZET 1104 21 17 91 23 1 50 1407
&3 839 34 120 38 16 1 27 1075
NEX 639 27 106 150 32 0 27 981
TE3 593 24 99 80 9 0 54 859
reiq 190 11 102 436 13 2 27 781
MED 433 15 54 234 7 0 25 768
S237 319 8 39 361 10 0 17 754
a3 356 12 90 248 13 0 27 746
e 414 21 109 66 3 2 12 627
FER 511 9 28 31 4 0 20 603
=3 289 15 29 159 8 0 13 513
zZ=3 351 20 79 29 10 0 17 506
FIEE 230 1 36 155 14 0 24 470
a7 259 19 65 55 1 0 32 441
k&1 194 18 41 16 2 0 9 280
23 86 7 41 46 6 1 16 203

CHEof| A 20CH o{ 82 #et+t, S, Of= S22 Ol ME

- Bt} 4.4HH(15.6%)2 2 Tt & H

lo
=

, EE1 1.8MH(6.5%), OL=ZR 1.8 (6.3%) =

CHZ2] 20CH ofdo| ME2 M=S 2t o= ZHo| 71 3N, us, FE =

= =loin} 25t 3.99HH(59.1%),
= wSn 2510 1.30HH(19.7%),
a2 16 | ChHA|M MEst 20TH ofAe| x|f REE M2 - Fei} Beisto] 782(10.3%)0] HES Z

99



: @ o X - Hy|= HEs 200H o{Me| x|t MY

(ctel:

e = ey ns FHgA xjdsH J|E Al HES
Z2lA| 1101 63 165 430 26 1 78 1864 17.8%
MLA| 908 32 133 134 8 1 42 1258 12.0%
20I4A| 695 24 64 267 12 0 38 1100 10.5%
SHAA| 536 32 74 61 2 22 733 7.0%
T{EHA| 478 49 72 21 2 40 668 6.4%
T2kA| 459 36 63 7 11 1 27 668 6.4%
OFARA| 330 24 49 146 9 1 25 584 5.6%
OLQkA| 220 13 44 53 6 0 9 345 3.4%
O|&A| 151 17 14 140 3 0 13 338 3.2%
SHA| 202 8 29 44 8 1 1 303 2.9%
QA 210 6 21 12 1 0 15 265 2.5%
o|HEAl 123 7 48 48 5 0 21 252 2.4%
AlEA| 158 6 29 19 3 0 16 231 2.2%
THEA| 178 12 22 5 2 1 10 230 2.2%
OFMA| 115 7 19 73 1 2 9 226 2.2%
Liok=A| 92 15 24 27 6 1 10 175 1.7%
UmEA| 105 13 26 4 6 0 9 163 1.6%
SLtA| 97 9 30 7 0 9 158 1.5%
= 75 14 11 27 4 0 9 140 1.3%
ZHEA| 92 8 21 3 1 8 137 1.3%
A 82 18 14 2 0 2 127 1.2%
o| 2| 30 5 1 28 2 0 4 80 0.8%
EHA| 50 3 2 6 0 1 5 67 0.6%
F2]A| 42 9 13 1 1 0 0 66 0.6%
FIEIY 43 4 8 6 1 0 2 64 0.6%
0iFA| 34 2 10 8 0 1 1 56 0.5%
gz 34 1 0 2 0 1 1 39 0.4%
bk 31 1 0 0 0 0 0 32 0.3%
2 24 1 1 0 0 1 3 30 0.3%
ESHAl 18 0 5 2 0 0 1 26 0.2%
AHEA| 14 1 2 4 0 0 0 21 0.2%

CHEof|A 20CH o{d2 53, dH, 82l S22 Ci5 HME

= $=210] 1.98H17.8%) 22 7}& Honf, MLt {38 (12.0%), 2! 1.1HH(10.5%) &=

CHE 2l 20LH ofdo] H7[|=2 MES 2t 0|7 = ZH0] 718 M, BF, FEH =

- zida} 22isto] 6.78H(64.4%),
- w1 BEst0] 1.7HH(15.9%),
a8 17 | oA &8t 200) o{Me| x| 2xE ] - Fe4a} B2s10] 1.0MH(9.5%)0| &S &

g2



e = = ns FHgA xjdErd J|EL Al
FOkA| 1839 108 205 322 40 4 168 2686
ZEA 350 39 17 362 23 17 7 979
=4h 360 51 152 142 42 27 31 805
OFAFA| 543 49 96 51 7 4 25 775
=ik 203 28 43 27 10 19 44 374
CHXIA| 240 20 15 13 2 3 14 307
EMZ 220 12 16 36 3 0 15 302
MARA| 235 22 20 10 2 1 11 301
g20{2 144 20 34 41 9 4 24 276
RN 192 18 31 3 5 1 16 266
HEA| 125 45 41 5 6 10 22 254
of| Ak 107 14 10 24 1 0 10 166
o 80 12 4 49 2 4 1 162
Ef ot 76 8 7 14 0 2 7 114
MEZ2 57 1 3 2 i 2 1 77

CHEof|A 20CH {2 el B F, =4 S22 O M&

= #olo]| 2.7 H(34.2%)C 2 7} & Lo, ZF 9.782H(12.5%), =Al S8HEY(10.3%) =

CHE2] 20LH ofdo] SH2 2 MES 7t olf= Aol 71 30, ux, FH =

xloia} BEisto] 4.8HH(60.8%),
@S 2510 1126 (14.0%),
ES 24510 SUHD(10.1%)0| ME&2 &
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2118 | HEoM X&3t 200 0{Ao] X|oiH Bx s
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e friec=z H = 30CH Hde| xX[H9E sig
(ctel: o)

e & e ng FHEE  xAgd J|E Al HWEE
& 4521 1104 2087 99 277 30 635 8753 17.7%
M2 5935 677 1177 214 97 30 456 8586 17.4%
Ao 5931 659 1154 149 112 30 515 8550 17.3%
£5 2447 556 1064 69 118 22 322 4598 9.3%
5 1863 242 4382 35 46 10 149 2827 5.7%
IES 1188 309 684 33 131 7 169 2521 5.1%
A= 1593 184 290 47 25 9 108 2256 4.6%
ad 1365 133 231 40 27 3 87 1886 3.8%
£at 1320 117 227 34 13 2 74 1787 3.6%
ol fo= 1297 95 212 34 14 1 76 1729 3.5%
oI 1062 97 252 24 10 (5] 83 1535 31%
za 937 63 138 24 12 4 53 1236 2.5%
z=F 912 57 145 19 5 1 49 1188 2.4%
Hi 760 71 132 18 Ll 2 44 1038 2.1%
S 386 44 79 13 4 1 26 553 1.1%
M= 192 18 54 7 1 1 20 293 0.6%

HHe 2 Hels 2 30t HM2 =AM, Ho|, eIH)at

EHAUEY, &5, M3E)o| ctx

= FZ=HoM= 30 o] 1.981Ho| 2tan, MSd|M 7tE Bo] &

—> SFA0IME 300 40| 1.6240] Som, SHIM T1E B0l 2

300 HA0| HESE Fela| 2 ol Hglo| 7 A, Fu, 7HE &

501 3.20124(64.3%),
510{ 8.4 (17.0%),
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e = = ns FHgA xjdErd J|EL Al
FOkA| 981 148 314 10 25 3 97 1578
= ALA| 590 181 312 13 39 3 87 1225
Ak 420 178 396 9 59 5 88 1155
ZEA| 442 142 246 14 42 5 91 982
A= A| 246 75 166 2 33 2 43 567
O} AkA| 330 67 105 12 10 2 35 561
go{2 271 55 19 5 23 3 46 522
MARA| 258 48 74 9 7 1 31 428
SHXIA| 225 54 72 5 6 1 28 391
RN 206 33 74 3 13 1 21 351
=4z 183 33 44 4 7 1 17 289
of Ak 119 23 52 2 4 1 16 217
okt 79 19 47 4 5 0 17 171
Efot=t 93 19 33 3 3 0 9 160
MEZ2 78 29 33 4 i 2 9 156

SHollM tiez MYsH 2 30C] M2 tXa 7172 =A|7} Ch=

{

#oto] 1.6 H(18.0%) 2 7}& Hon, =2 1.2HH(14.0%), 24 1.2¥H(13.2%) =

SH2| 30t HHo] M= Myls 2 olfr= 2ol 71 AN, FH, Jt=

M

2510{ 4.5 (51.7%),
215t0{ 2.132(23.8%),
215101 1,186 (12.6%)0| LHEo = =l
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: e ME- o= Ms| 2 300) HAo| x|
(Etgl: &
E
e = ey ns FHgA xjdsH J|E Al HES
Zotq 663 62 121 26 19 6 54 951 1.1%
i = 383 52 77 18 8 1 29 568 6.6%
Ze 362 49 73 23 3 1 35 546 6.4%
ZA3 356 35 68 1 1 0 24 495 5.8%
dszE3 307 38 55 7 8 2 21 438 5.1%
sxiq 295 32 58 1 7 1 23 427 5.0%
F=23 238 40 51 10 2 1 18 360 4.2%
EE] 249 40 40 1 4 0 15 359 4.2%
ojz3 227 23 56 9 5 3 23 346 4.0%
MEq 249 25 42 9 0 2 11 338 3.9%
Laq 219 24 47 6 2 0 24 322 3.8%
X 224 22 46 7 3 0 19 321 3.7%
zE3 216 26 46 8 5 0 19 320 3.7%
S8 220 23 38 8 5 2 15 31 3.6%
243 209 34 42 S 3 i 9 306 3.6%
MED 210 21 33 4 4 2 9 283 3.3%
MIj23 202 19 39 5 3 1 14 283 3.3%
PLE 198 19 36 3 2 1 14 273 3.2%
= 173 20 42 4 4 0 15 258 3.0%
A7 171 16 39 5 1 2 14 248 2.9%
zaq 161 15 34 3 4 1 19 237 2.8%
23 137 12 21 7 2 0 8 187 2.2%
FIEES 119 19 27 4 1 1 9 180 2.1%
Eg23 74 5 23 5 1 2 8 118 1.4%
=3 73 6 23 2 0 0 7 M 1.3%

ME0|M o2 HMels 2 300 Hd2 2ety, Sut+t, 2+ S0l Ch

= Tt} .0MH[1%)S 2 7}EF on, 2T} 68HH(6.6%), ZHetTL 5EHT(6.4%) &=

M22| 30t Hdo| ez HMels| 2 olf= Aol 71 30, FH, 15 =

510 5.98H(69.1%),
510{ =EH 1,223 (13.7%),
5t0] 7% 79HH(7.9%)0| f
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asl 22| tEe = Mels|

Z7| - o= Helsl 2 300 el X #

=}

o
(hel: H)

e = ey ns FHgd s 7|E} Al HES
£2lA 729 70 172 23 16 3 62 1075 12.5%
MLEA| 568 70 87 18 1 41 793 9.3%
20I4A| 470 54 80 8 5 2 44 663 7.8%
T2kA| 394 35 70 13 2 33 555 6.5%
BHAA| 338 44 77 7 14 3 36 519 6.1%
TEHA| 323 54 82 9 7 1 27 503 5.9%
OFARA| 304 39 69 6 3 0 27 448 5.2%
OLQkA| 300 37 57 7 7 0 29 437 5.1%
HekEAl 230 21 34 8 2 0 22 317 3.7%
AlEA| 202 21 39 8 6 0 24 300 3.5%
SHA| 221 18 33 4 4 1 9 290 3.4%
A 167 1 35 6 1 0 1 231 2.7%
2z A| 145 19 40 4 1 0 16 225 2.6%
QARA| 146 16 29 4 5 1 1 212 2.5%
ZHOdA| 147 15 28 2 3 1 1 207 2.4%
HEA| 145 13 26 4 2 2 15 207 2.4%
ZzA| 143 13 26 0 4 2 8 196 2.3%
o|™MEAl 129 13 30 1 1 0 8 182 2.1%
0| A| 110 16 28 1 3 1 12 171 2.0%
oA A| 101 19 19 0 2 4 15 160 1.9%
SHebA| 89 6 18 2 1 1 12 129 1.5%
ok A| 96 7 9 1 1 0 117 1.4%
EHA| 90 8 8 1 0 1 112 1.3%
o|2kA| 65 8 12 4 1 3 99 1.2%
F2]A| 61 11 11 1 0 0 1 95 1.1%
AEA 49 4 3 1 0 3 65 0.8%
IFHA| 34 8 1 0 0 6 54 0.6%
0iFA| 29 1 13 0 4 1 5 53 0.6%
ESHAl 37 4 0 1 0 2 52 0.6%
Fabu 38 2 4 3 1 0 1 49 0.6%
7tE2 31 2 0 0 0 1 34 0.4%

ZAI|diM Moz HMels 2 300 o2 3, 44, 82l §0| Ci=

= FHO0| 1L1MY(12.5%)22 71 Bon, 4 suH(9.3%), 2l 7HH(7.8%) &

Z7(2] 30t H4do| o= HMejs 2 olfE A0l 71 30, u=x, FHY

A
[

510 5.98H(69.4%),
510§ 1.2 H(13.5%),
510 743 (7.7%)0| CHEo =2 X!

NN A
S
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N @ o rClHo|AM XMESH 30 YAl x| st
(ctel:
E

e = == ns FHgA xAEH J|EL Al HES

7| 7750 810 1567 57 110 27 475 10796 20.3%

M 6634 778 1478 246 159 13 489 9797 18.4%

Lt 6046 694 1259 62 129 82 544 8816 16.6%

IES 2278 1160 2720 34 279 31 406 6908 13.0%

&= 2769 413 649 33 51 50 310 4275 8.0%

HE 1212 161 315 22 19 24 141 1894 3.6%

a5 1185 115 156 25 12 16 97 1606 3.0%

olA 987 121 332 10 16 3 130 1597 3.0%

ad 1083 97 155 16 10 1 57 1429 2.7%

S 787 104 183 15 18 4 61 1172 2.2%

Zd 917 53 94 12 7 13 28 1124 2.1%

(if=] 670 87 188 10 17 5 61 1038 2.0%

g 655 67 91 3 6 16 51 889 1.7%

ES 506 57 160 11 6 2 53 795 1.5%

S 393 35 68 i 4 3 18 522 1.0%

ES 337 26 45 5 9 10 29 461 0.9%

CHEollM 30CH HH2 F=A(AH7], M2, eld)at
SHAUSH, NS, S8)22 Cl+ &

5101 3.42+2H(64.4%),
501 9.5 H(17.8%),
510 4.84H(9.0%)0| &2 Z
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e X - A= M&ES 30 LMo x|y si&t
(Etgl: )

ey & e ns FHgA xjdsH J|E Al MES
£21A| 1011 98 196 9 9 3 77 1403 13.0%
ShAA| 857 85 144 0 8 1 24 1119 10.4%
TEHA| 756 55 119 1 9 2 53 995 9.2%
MLEA| 699 78 135 8 12 0 44 976 9.0%
20oIA| 672 76 17 5 8 4 36 918 8.5%
OFARA| 454 29 69 4 7 0 36 599 5.5%
1| 341 77 96 9 10 0 20 553 5.2%
QrokA| 243 46 88 1 5 0 10 393 3.6%
QA 3N 16 30 2 3 2 14 378 3.5%
AlEA| 271 17 54 0 1 0 1 354 3.3%
0| FA| 224 1 33 0 0 2 12 282 2.6%
THEA| 201 16 28 2 1 1 22 271 2.5%
Uz A| 181 15 55 2 10 0 8 27 2.5%
2z A| 173 26 53 2 2 2 12 270 2.5%
OFMA| 204 20 23 1 3 2 13 266 2.5%
Lhok=Al 137 16 42 6 6 1 14 222 2.1%
B A| 13 20 35 2 3 0 8 181 1.7%
2 A 93 26 43 0 0 0 6 173 1.6%
ZEZA| 118 17 3 1 1 0 4 172 1.6%
o|XMEA| 88 10 45 1 5 2 1 162 1.5%
ShetA 91 17 40 0 5 0 158 1.5%
EHA| 101 6 9 0 0 0 120 1.1%
IEIY 77 2 13 1 1 0 97 0.9%
o|2kA| 68 1 15 0 0 0 1 95 0.9%
F2]A| 41 7 21 0 1 1 4 75 0.7%
0iFA| 45 6 7 0 0 0 3 61 0.6%
P 34 6 7 0 0 2 3 52 0.5%
bk 43 2 0 0 0 0 2 47 0.4%
S=MAl 33 3 7 0 0 0 3 46 0.4%
7tER 41 0 2 0 0 1 1 45 0.4%
IR A| 29 6 5 0 0 1 1 42 0.4%

CHEollA 30CH W2 A= , 5td, e So 2 i S

4
o

= £210] 1.482H>13.0%)22 7}&F Hon, 3}M 11H2H(10.4%), HEH 1.0H2(9.2%) =

CiZ2| 30c Hdo| H7|2 MES 7t OlrE ZHYH0| 71 30, FH, 7}

Jp
M

= Zlgial #teisto] 7.8 (71.8%),
= FEHa} A0 1.6 H(14.5%),
= 24\ X0l A &8t 30CH LHAo| x|l BEx s \ AH7| - J}=3} BE5I0] SMD(7.5%)0] MES T

S



: e iH - ME82 HEs 300 o] xjoid

(ctel:
E
e = ey ns FHgA xjdsH J|E Al HES

Zotq 883 40 88 81 15 2 67 1176 12.0%
Zu 562 7 102 6 16 0 36 793 8.1%
ZM 3 498 57 100 7 13 1 24 700 71%
ASZ 477 44 81 1 18 0 30 651 6.6%
a3 415 61 120 5 8 1 36 646 6.6%
Mz 327 41 82 3 7 1 17 478 4.9%
1] 305 52 VAl 5 12 1 18 464 4.7%
Sxq 313 35 47 31 7 1 25 459 4.7%
] 274 29 83 6 4 0 20 416 4.2%
=r ] 299 12 33 3 2 1 13 363 3.7%
Zziq 249 34 45 9 5 0 19 361 3.7%
AR 238 26 42 5 5 1 14 331 3.4%
MEq 191 24 73 18 5 0 13 324 3.3%
S22 198 15 56 12 6 0 22 309 3.2%
N 197 18 35 13 6 0 18 287 2.9%
MED 176 36 42 9 7 0 15 285 2.9%
=3 169 26 58 1 4 0 18 276 2.8%
e 170 44 42 1 3 1 12 273 2.8%
eglq 93 26 76 4 2 0 10 211 2.2%
zaq 108 16 54 2 4 0 16 200 2.0%
237 128 14 18 15 3 0 10 188 1.9%
=3 125 13 24 3 1 0 14 180 1.8%
PIEC 107 17 45 3 2 0 6 180 1.8%
53 87 12 22 2 2 1 8 134 1.4%
23 45 15 39 1 2 2 8 112 1.1%

CHEOf|A 30CH L2 2o, ZH, ZM+ S_=2 Ol ME

= B4RIH.28H>12.0%)22 I3 Hen, ZH T SHH(8.1%), ZMT 7HH(71%) &

CHEel 3ot Hdo| ME=2 M&S 7t olf= EHYHo| 71 3N, FH, 71%

M

510 6.7XH(67.7%),
510{ 1.58H(15.1%),
5101 guim(7.9%)0| M&2 Z
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e = = ns FHgA xjdErd J|EL Al
FOkA| 1879 185 290 13 3 3 164 2565
OFAFA| 792 75 168 3 7 1 24 1070
=4 462 66 173 2 27 17 41 788
| 354 67 127 17 12 15 77 669
CHXIA| 476 3 46 3 4 2 13 575
A=A 247 85 156 3 17 5 41 554
=i 316 54 93 3 13 19 55 553
MARA| 410 3 55 2 3 1 18 520
M3 301 18 32 5 1 2 19 378
RN 208 15 33 0 4 4 13 277
go{2 146 16 48 6 4 3 32 255
ofj &t 153 17 14 3 2 2 14 205
Ef ot 125 12 7 1 1 3 12 161
HaR 97 10 2 i 2 3 14 129
MEZ2 80 12 15 0 i 2 7 17

pal

CHEof| A SOCH 2 Heok, ofdl, =4t S22 Ch5 M=

I

- Fok0| 2.6MH(29.1%) 22 7}& o, OlA 11MH(12.1%), =4t SUHEI(8.9%) &

CHEel 3oL Hdo| SH2 =2 MES 7t o|lfE 0| 718 30, FH, 715 =

- Egda #sto] 6.0HH(68.6%),
- nS I H510] 1.3MB(14.3%),
J8 26 tHHOIM HES 300] Aol xjoiE BE= =4 o Felat BEistel 7UHE(.9%)0| HEE 2
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ey & ey ns FHgA xjdsH J|E
Mg 2297 443 676 82 75 35 316
&4t 1901 353 904 75 134 16 403
7| 1899 343 614 67 56 23 305
== 1014 193 460 28 59 7 220
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